Today : Lathice Energy ¥ HEss's LAW NoveMcer €8
sunday: prootem o W kendall
—5tudy Pre-Luaid Expt |
Monday: Ck4
Tucsday: Expt il
-t —
XFire friday €xXperimtint
=1Zemn — 7.2L AH = = Q0B 5 ol CHy
N =4/ 5TW3 f ? AH 7 03D /(7, Mol O,
~ AH = -803F) [ Mol (¢
CHY (9) +20,(9) — CO.(a) * TH,0(9) AH= ~R03 kT
AHS L ~TBksfma Okrsimot ~ 394k imd ~ 247 k3 1mo|
*-lmoi *-2moi _* Imol * 2 mol (

AHM*’151<J'+ OKT " DIHKI —ygury = "ROdKY

0.3 molChy|-R0BKs = [~ 200 KT |
% T | Mol CH4

—_— e e ————

Lattice tnerg \d &fﬁ@ T 2CI ﬂvj _'\,[\_'ﬂ% ( a)

‘ m}r- 1-1.}/‘ %(S > — Mﬂ/(/"’\\ AH‘= -+ ll{% 4y /mo‘ +',H% |
e v“\&’Mg (9) = Mgy e AR+ 738 k3| ma i
/, ¥ ((5) ~— M¢ zTr(LD re—- AH;; Y (46[ T /W“\UE r5 43
/Cla(g) —> 10 (@) A= +243 I (MO| _*Wxg
WG (g ) re” — C(QNAH -84 ksl K2 —&
“*‘j@%\‘*‘“\ Ma* (qﬁ- .G (9) -§s MaClp(s) OH* s
|~ ¢ ’ o et oe fornnation
m(ﬁ(f,—f) +Cl 4 (9) =M Cl,(5) AHe' = - 142 KT /mol MgCly
,—/ﬁf—_‘_ﬂ‘-—_—ﬁ_!
S

K=-2524 7



1Wap 900\ 2. Novemoer g

| 4NHz FT0, = ANO, * 0H, 0(£)
AHel —4b O *32 - 2%0
R BT B

Hil 1184+ 0O r|22 =17l = —IHCO KT
AH 7 - HoO KT
4 MO (NH 5

- 200 kT {mm NH2

Cly (9)
Br_ziﬂ) LOF o€ MM

ewis 2= ABE <= AnguEr

SHZ ABzE‘z p)lar{'
BH‘3‘ 363 Non~ FL;(KV
f\:HB ABZE polal — K- qugﬂ\s

%5) onap 9 Cay 4

\ [« \'/__. warm|
Ca &0/ — QE Ty,
L'();”O*mrﬁﬁm;@
Aok * (gm0
Qo = = Goid -

% 1269 (Tea - £5°C) / m%*(fﬁm \6"0)

@@@

1""\

7
~ *MEmcelsd/




TR SN

O DO — 1~ WIDX D l

. SN
00
H—-'iv/ —e /
oy i\N/

H




